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Pegel Weinahr
Ereignis 8, HQ <1

25 25 N-Summe: 57,6 mm
Scheitelabfluss: 22,6 mdis
20 + + 20
<€
15 1 115 g Q Ereignisbeginn: 1,19 m3/s
§ Ereignisdauer: 135 Std.
< Abflussbeiwert: 20 %
10 106
/ \ g N-Dauer: 35  std.
5 A 5 2 max. N-intensitat: 4 mm/h
! i I I T mittl. N-intensitat: 1,65 mm/h
0 - 1 1 1 0 Verzdgerungszeit: 8 Std.

13.9.98 14998 15998 16998 17.9.98 18998 19.9.98 Vorfeuchte: mittel
Wetterlage: 35

Niederschlagsverteilung

EZG Pegel Weindhr

[]
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unter 47,20
47,2 -43,0
45,0 - 45,5
45,5 - 49,6
49,6 - 50,4
a0,4-51,2
al,2-52,0
a2,0- 52,8
22,4 - 53,6
23,6 - 54,4
a4,4 - 55,2
25,2 - 56,0
26,0 - 56,5
26,3 - 57,6
a7,6- 55,4
ag,4 - 59,2
29,2 - 60,0
60,0 - 60,5
60,5 - 61,6
61,6 -62,4
dber 62,40




